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WEST BENGAL STATE UNIVERSITY
B.A. Honours 4th Semester Examination, 2021

EDCACORI10T-EpuUcATION (CC10)

STATISTICS IN EDUCATION

Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate full marks. aNfes I 70E KNG Q’W fact FC 1
Candidates should answer in their own words AT ST ST I AT AN
and adhere to the word limit as practicable. s R

1. Answer any two questions from the following: 15%x2 =30

fafeiie @-cwiel 7f6 alvea Ted nies

(a) What do you mean by the term ‘Measures of Central Tendency’? State the uses of 4+4+7
mean. From the following frequency distribution, calculate Median.

U e e I [ @I 9 aiter IEReE e Ja@h fAnfEike
A Rerew @ s [ s
Score (CFT9) 50-59 | 60-69 | 70-79 | 80-89 [ 90-99 [ 100-109 | 110-119
Frequency (sfcal) | 15 40 50 60 45 40 15

(b) What do you mean by the term ‘Measures of Variability’? State the uses of 3+3+9
Standard Deviation (SD). Calculate Quartile Deviation (QD) from the following
frequency distribution.
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fRaelz ~fst e & @R ¢ s [Ryfea (SD) IRt Srae st e
AR Koo @ vedie [yl (QD) et s

Score (CF) 3234 | 35-37 | 38-40 | 41-43 | 44-46
Frequency (#if&oR2l) | 14 62 99 18 7

(c) What do you mean by correlation? State the types of correlation. Calculate 3+3+9
Coefficient of Correlation from the marks of Geography and Statistics using
‘Rank Difference Method’ and interpret the results.

F2oifS TeT0e [ @I 9 T2oifen epTenatE Srad N AR AEfore gl
@3 AR THE W Reifed wReE T SR € Fewe i FEHN

Marks in Geography | 61 | 36 | 46 | 84 | 29 | 56 | 66 | 44 | 46 | 40 | 41 | 45
(SN =)

Marks in Statistics | 59 |45 |45 |72 |38 |52 (5436|4653 |51 |40
(Rl T59)
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2. Answer any two questions from the following: (Each within 200 words)

oo emafem Sty @-Itl 76 2ltiw Tea wies (@lfsib 200 it wiey)
(a) Write the differences between Histogram and Frequency Polygon.

ITeETd @R AR IRGER T ANLFSE @

(b) What do you mean by the term ‘Skewness and Kurtosis’ of a distribution?

I IR STl (R SISl I6709 [F @I 9

(c) The mean and median of a distribution are 26.8 and 27.9 respectively. Calculate

mode of the distribution.

@Il IBCA TG G2 LN W IAGFC 26.8 @2 27.91 IB0A FANSTFE A ez

N

(d) Calculate P5 and P10 from the following distribution.
fermferie 3%+ (e P5 @3 P10-97 Wi fefy e

Class interval (G J3I=)

3-6

6-9

9-12

12-15

15-18

Frequency (#If&R2)

4

10

12

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple

copies of the same answer script.
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